(1]

(CA=TANS
5L (R, )
B
13:30-13:50 /N 1l 77 (SSC BFEE « AR TR E « —ZEREAITEER)

13:50-14:10 Bt fiZ (AT R IR3S IR - EBREA KFEIFE)
21 i HARDEGE e E HOK Y « 253K 1Y |

14:10-14:30 {I5F 1E% ([ENLERBEWFZEAT HIERER BEMF 70 & o & — iR L Y R 7 Gl /e E=E )
[HEERIEIE(L U R 7 DOEG & 55 PRI |

14:30-14:50 Bk 50+ CRURR P fb2ie S W 7Epms A T20%)
(RFHEDEHSY

14:50-15:10 & il AR R FERFPeR s F R 80%)
[Rifee AT RE 70 BB T %6 i D F LR v AR T |

15:10-15:40 {AREA
15:40-17:00 BUER (SF)L « T4 AH v a L)
AET5F L —H—
B Bt CRAURS: IR3S HUTLEAR - KFPE LR/ Rl i T R %)
AR Y 2k
B EEEES S RH Bl (LARGESEMAE) /=Lt (NHK figii % 8)
PASRES (F WAIE (U KRFAHEREHGE RS2 A =2 7 7 4 7 (TIGS) #AET 4 L7 X — « Zid%)

[&£55HK] http://www.u-tokyo.ac.jp/campusmap/cam01_00_01_j.html

a3 x5 _
i FELAR BUAHIR (N12) Bl ===swamin2 w3 W43 T ARST IR 08




